ESS 100 (Stapleton)
Ages of Rocks and Earth History, Part 2
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Practice Test – Ages of Rock
Organize the lettered rock samples from oldest to youngest.  Then make a mark where the earthquake occurred in the sequence.

	Oldest                                                                                                                                                                               Newest
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1.	Sample C contains 50 K-40 parent atoms and 150 Ar-40 daughter atoms.
	a.  What is the total number of parent + daughter atoms?

	b.  What percentage of those atoms are parent atoms?

	c.  Which of the following is closest to the age of Sample C?
	0by	1by	2by	3by	4by	5by	6by	7by	8by	

2.	Sample G contains 150 K-40 parent atoms and 228 Ar-40 daughter atoms.
	a.	What percentage of those atoms are parent atoms?

	b.	Which of the following is closest to the age of Sample G?
		0by	1by	2by	3by	4by	5by	6by	7by	8by	

3.	Which of the following is closest to the age of the fault created by the earthquake?
	0-1by	1-2by	2-3by	3-4by	4-5by	5-6by	6-7by	7-8by	

4.	Sample D contains 90 K-40 parent atoms and 820 Ar-40 daughter atoms.
	a.	What percentage of those atoms are parent atoms?

	b.	Which of the following is closest to the age of Sample D?
[image: ]		0by	1by	2by	3by	4by	5by	6by	7by	8by	
	
5.	Sample H contains 50 K-40 parent atoms and 215 Ar-40 daughter atoms.
	a.	What percentage of those atoms are parent atoms?

	b.	Which of the following is closest to the age of Sample H?
		0by	1by	2by	3by	4by	
		5by	6by	7by	8by	

6.	The diagram on the right shows rock samples from another location on Earth.  Choose the most likely age range for layer M, in that diagram.
	0-1by	1-2by	2-3by	3-4by	4-5by	5-6by	6-7by	7-8by	
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Earth Science Notes | Name: ___
RADIOMETRIC DATING | |

P

RPOSE: to be able to deter

mine the age of a rock by measuring the number of radioactive atoms in it.

| Radioactive Element: An element whose atoms turn into other types of atoms over time. As these atoms turn into other
| atoms, they lose mass. That lost mass turns into a form of energy called radiation. [Example: Uranium-238 is a |
radioactive element which gives off energy when it turns into Lead-206, a smaller element.]

|Radioactive Decay: The process of large radioactive atoms losing mass and becoming smaller atoms.

IHalf-life: The amount of time it takes for half of something to die or to turn into something else. [Example: If you have
| /50 U-238 atoms, one half-life is the amount of time it takes for 25 of those atoms to turn into Pb-206 (Pb is the

- symbol for lead.)] - o | | | |

Parent Atom: A larger atom which can tumn into a smaller atom by radioactive decay.

Daughter Atom: What the parent atom turns into when it decays. -

How to tell if a rock is old: If there are many daughter atoms and few parent atoms, the parent atoms have been
decaying for a long time, so the rock is old. If there are many parent atoms and few daughter atoms, the parent atoms |
have not been decaying for very long, so the rock is new. | ‘ |

Resetting the Clock: When lava hardens and becomes rock, parent atoms and daughter atoms become separated. They

- form different types of minerals. When rock is melted, its atoms are re-set. |

Sedimentary Rock Cannot Be Dated: Its atoms are not “re-set” by melting,

I Carbon-14 (C-14) _

| Number Of Half lives Which Have Passed | O
- Age Of The Rock In Years

~ Number Of Parent Atoms In Rock
Number Of Daughter AtomsInRock | |

T Total Number Of Atoms InRock |

Total Number Of Atoms In Rock
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Use the formula below to answer these questions. A calculator would be helpful. |

8. A rock contains 8 Ar-40 atoms and 17 K40 atoms. What peroemage of the atoms in the roek are parent atoms"
9. A rock contains 24 C-14 atoms and 47 N-14 atoms. What percentage of the atoms in the rock are parent atoms?
10. - Arock contams 43 U-238 atoms_ and 35 Pb-206 atoms. What peroentage of the atoms in the rock are parent atoms?

How to determine the percentage (%) of atoms in a rock which are parent atoms:
USE THIS FORMULA. .

% Which Are Parent Atoms = = Number Of Parent Atoms Remaining + + Total Number Of Atoms In Rock
***You will need to move the decimal point in your answer 2 places to the rlght s

Example | Question: A rock contams 14 U-238 atoms and 9 Pb-206 atoms. What percentage of the

atoms in this rock are parent atoms? .

Hof Porent Aoms = /4 14:23= >3 l-—-—-—g-g‘! _> 608 Move

Total! 2 oF Afoms = /Y4 9=23 | ' d }M“/
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Use your graphs to answer the following questions.
11. If a rock containing U-238 and Pb-206 contains 80% parent atoms, how old is the rock?
12. If a rock containing C-14 and N-14 contains 25% parent atoms, how old is the rock?

13. If a rock containing K-40 and Ar-40 contains 65% parent atoms, how old is the rock?
14. How old was the rock in question number 8? |

15. How old was the rock in question number 9?

16. How old was the rock in question number 10?

17. A rock contains 90 atoms of U-238 and 7 atoms of Pb-206. How old is it?

18. A rock contains 17 atoms of K-40 and 3 atoms of Ar-40. How old is 1t?




image5.jpg




